Figure 6: The set X, is superimposed on Cy(X;), showing how X, relates to X; in the SVAR
model (15), for times 2 through 10. The top-left plot is for time 2, time 3 is the top-middle plot,
..., and time 10 is the bottom-right plot.
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Figure 7: The set of exposed marker points, X7, , is superimposed on the transformed set C7(X).
The ratio of the number of pixels in X7, ; to the number of pixels in C7(X}), is an estimate, Dy41,
of the thinning probability, for times 2 through 10; see (18). The top-left plot is for time 2, time 3
is the top-middle plot, ..., and time 10 is the bottom-right plot.
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Figure 8: Time series of the estimates of the thinning probabilities, {p;+1: t = 1,...,9}, given by
(18).
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Figure 9: Map of the probability forecast of concentrated precipitation, Y11(-), given by (19). Also
shown is the actual concentrated-precipitation set (denoted by gray crosses superimposed on the
NARRCAP pixels) at time 11, namely Xq;.
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Table 1: Parameter estimates of SVAR model for {X;,,: ¢t = 1,...,9}. The displacement means
(1, p2) and standard deviations (oq,02) are in units of km; the displacement correlations (p) and

thinning probabilities (p) are unitless.

Parameter Estimates

—_

© 0~ U W |t

0

(Fe11, ﬁt+1,2)

(3t+1,1, a\'t+1,2)

Pt+1

Dit+1

(40.978,46.649)
(69.294, 36.862)
(55.926, 14.973)
(48.611,6.191)
(37.918,-8.838)
(35.520,-12.470)
(36.010,-10.158)
(46.772,-4.340)
(48.824,-0.472)

(45.172,15.091)
(38.768, 34.136)
(40.263,43.471)
(40.138, 47.724)
(40.411,41.711)
(39.951, 34.358)
(38.335,27.256)
(37.128,33.924)
(27.709, 34.546)

0.597
0.800
0.799
0.832
0.839
0.854
0.797
0.776
0.629

0.039
0.023
0.031
0.027
0.014
0.022
0.041
0.031
0.021
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